Philosophy 225 - Symbolic Logic

Spring, 2011

Midterm Review Questions

1. For each of the following arguments, determine whether the conclusion is a TW-consequence of its premise. If it is, derive it from them. (You may use AnaCon, but only on literals). If it is not, show that it is not by giving a TW-model that is a counterexample.

a)
~(FrontOf(a,b) v FrontOf(b,a)


__________


SameCol(a,b) ( a = b

yes

b)
SameRow(a,b) v SameCol(a,b)


SameShape(a,b) ( a ≠ b


~ LeftOf(a,b)

____________


RightOf(b,a)


no

c)
~ (SameShape(a,b) ( ~ Adjoins(a,b))


~ Tet(a) ( a = b


Tet(b) ( ~ (Small(b) ^ Med(b))


________


Large(b)


no

d)
Tet(a)


~ Dodec(b) ^ SameSize(a,b)


~ (SameSize(b,a) ^ Cube(b))


________


SameShape(a,b)

yes

2. Derive the last sentence from its predecessors (don't use TautCon or AnaCon)

a)
–(P  (Q  –R))



b)
(P  R)  P


Q  (–R  S)




Q  –(R  P)


Q  –S





–R  (P  Q)


(Q  R)  Q





_________


__________





R


–P

c)
P  [Q  –(R  S)]


d)

P  (Q  R)


R  [(P  –Q)  –P]



–S  (R  S)


_______________




–(Q  P)


R  –P





_________










S

3. For each of the arguments in (1) for which the conclusion was a TW-consequence of its premises, determine whether it is also a tautological consequence of its premises. If it is, give a derivation of it from its premises without using AnaCon. If it is not, give an SL-argument of the same form, and provide an assignment of truth values to the sentential letters in which the premises are true and the conclusion false.

neither of them is a tautCon

